


•उत्साह सबसे बड़ी ताकत होत़ी है। 

उत्साह से बड़ी कोई ताकत नहीं है। ऐसा 

कुछ भ़ी नहीं है जो उत्साह़ी लोगों के 

ललए इस दुलनया में प्राप्त यो्य नहीं है।



• An insect can move in both front and reverse directions.  He walks in front 

for 3 minutes and then reverse for 2 minutes.  He walks at a speed of 5 

meters per minute.  At least for how long will he be able to cover 105 

meters?

• एक कीट सामने और ररवसस दोनों लदशाओ ंमें चल सकत़ी है । वह 3 लमनट तक सामने की 

तरफ चलता है और लफर 2 लमनट के ललए ररवसस चलता है । वह 5 म़ीटर प्रलत लमनट की गलत 

पर चलता है । कम से कम वह लकतने वक्त तक 105 म़ीटर तक तय करने में सक्षम होंगे ?

A.105

B. 95

C.21

D.93



• Q is the mother of M and N. N is married to O. How is Q related to O?

• Q, M और N की माता है। N, O से लववालहत है। Q, O से लकस प्रकार संबंलित है?

A)Mother

B) Mother-in-law

C)Daughter-in-law

D) Son-in-law



• Pointing to a lady, Abhijit said, "Her granddaughter is the only daughter 

of my brother." How is the woman related to Abhijeet?

• एक मलहला को इलंगत करते हुए अलभज़ीत ने कहा, "उसकी पोत़ी मेरे भाई की एकमात्र बेट़ी 

है।" मलहला अलभज़ीत से कैसे संबंलित है?

A.Sister

B. Grand mother

C.Mother-in-law

D.Mother



• Amit said - "This girl is the wife of my mother's grandson". How is Amit 

related to this girl?

• अलमत ने कहा - "यह लडकी मेऱी मां के पोते की पत्ऩी है"। अलमत इस लडकी से कैसे 

संबंलित है?

A.Brother

B. Grand father

C.Husband

D.Father-in-law



• Pointing to a picture, Aamir said, She is the mother of my Son’s wife’s 

daughter. How is Lady related to the Aamir?

• एक तस्व़ीर की ओर इशारा करते हुए आलमर ने कहा, वह मेरे बेटे की पत्ऩी की बेट़ी की मां 

है। मलहला आलमर से लकस प्रकार संबंलित है?

A.Uncle

B. Cousin

C.Daughter-in-law

D.None of these



• Prema has a son named Anand. Rajiv is Prema's brother. Neha has a 

daughter named Rashmi. Neha is Rajiv's sister. What is Anand's

relationship to Rashmi?

• पे्रम का आनंद नाम का एक बेटा है। राज़ीव पे्रम का भाई है। नेहा की एक बेट़ी है लजसका 

नाम रलमम है। नेहा राज़ीव की बहन है। आनंद का रलमम से क्या ररमता है?

A.Cousin

B. Nephew

C.Uncle

D.Brother-in-law



Pointing to a woman,Sushant said “She is the daughter of the only child of 

my grandmother. How is the woman related to Sushant?

एक मलहला की ओर इशारा करते हुए, सुशांत ने कहा, "वह मेऱी दाद़ी की इकलौत़ी संतान 

की बेट़ी है। मलहला का सुशांत से क्या संबंि है?

A.Sister

B. Niece

C.Cousine

D.Data inadequate



• P*Q means P is the father of Q.

• P+Q means P is the son of Q.

• P-Q means P is the brother of Q

• P&Q means P is sister of Q.

• Which of the following is a distinction that C is the husband of H?

• P*Q का मतलब P, Q का लपता है। 

• P+Q का मतलब P, Q का बेटा है।

• P-Q का मतलब P, Q का भाई है

• P&Q का मतलब P, Q की बहन है।

• लनम्नलललित में कौन यह दशासता है की C, H का पलत है ?

A. C + D & E - F * H

B. C & D + E - F * H

C. C - D & E + F * H

D. C * D & E - F + H



• Pointing towards Kapil, Aditya said, 'His father is the husband of my 

father's father's daughter. How is Aditya's father related to Kapil's

mother?

• कलपल की ओर इशारा करते हुए आलदत्य ने कहा, 'उसके लपता मेरे लपता के लपता की पुत्ऱी 

के पलत हैं। आलदत्य के लपता का कलपल की मााँ से क्या संबंि है?

A. Brother /भाई

B. Husband / पलत

C. Father / लपता

D. Son / पुत्र



• P, Q, R, S, T and U are six members of a family. Family has parents and 

their childrens. P is the son of R and T is the daughter of P. S is the 

daughter of U who is the mother of T. Q is the spouse of R.

• P, Q, R, S, T और U एक पररवार के छह सदस्य हैं। पररवार में माता-लपता और उनके 

बच्चे हैं। P, R का पुत्र है और T, P की पुत्ऱी है। S, U की पुत्ऱी है जो T की माता है। Q, R 

की पत्ऩी है।

• In which of the following pairs represents the parents of the children?

• लनम्नलललित में से लकस जोडे में बच्चों के माता-लपता का प्रलतलनलित्व करता है?A. QS

B. RU

C. QU

D. None of these



• Introducing a man Suresh said he is son of that lady who is mother of my 

mother's husband. How is that man related to Suresh?

• एक आदम़ी का पररचय देते हुए सुरेश ने कहा लक वह उस मलहला का बेटा है जो मेऱी मां के 

पलत की मां है। वह आदम़ी सुरेश से लकस प्रकार संबंलित है?

A. Uncle

B. Son

C. Cousin

D. Grandson



• In a joint family father, mother three married son and one unmarried 

daughter are there. Among sons, two of them have two daughter and one 

son each. How many female members are there in the family?

• संयुक्त पररवार में लपता, माता के त़ीन लववालहत पुत्र और एक अलववालहत पुत्ऱी है। पुत्रों में 

उनमें से दो के दो पुलत्रयााँ और एक-एक पुत्र है। पररवार में लकतऩी मलहला सदस्य हैं?

A.2

B. 6

C.3

D.9



• Suresh's sister is Ram's wife. Ram is the brother of Rani. Ram's father is 

Madhur. Sheetal is the grandmother of Ram. Reema is the daughter-in-law 

of Sheetal. Rohit is the son of Rani's brother. What do you think of Rohit, 

Suresh ?

• सुरेश की बहन राम की पत्ऩी है। राम, राऩी का भाई है। राम का बाप मिुर है। श़ीतल राम 

की दाद़ी हैं। ऱीमा श़ीतल की बहू है। रोलहत, राऩी के भाई का पुत्र है। आप रोलहत, सुरेश के 

बारे में क्या सोचते हैं?

A. साला/ Brother-

in-law

B. पुत्र / Daughter

C. भाई / brother

D. भांजा / Nephew



• Ramesh is the father of Manideep. Ramesh has only two children. 

Manideep is the brother of Niharika. Niharika is the daughter of Kavita. 

Ananya is the granddaughter of Kavita. Sujit is the father of Ananya. How 

is Sujit related to Manideep?

• रमेश मलिद़ीप के लपता हैं। रमेश के केवल दो बच्चे हैं। मलिद़ीप लनहाररका का भाई है। 

लनहाररका कलवता की बेट़ी है। अनन्या कलवता की पोत़ी हैं। सुज़ीत अनन्या के लपता हैं। 

सुज़ीत, मलिद़ीप से लकस प्रकार संबंलित है?

A.Son-in-law

B. Brother-in-law

C. Son

D. Brother



• P × Q means ‘P is mother of Q’.

• P – Q means ‘P is father of Q’.

• P÷ Q means ‘P is brother of Q’. 

• P + Q means ‘P is sister of Q’.

• Which of the following means C is maternal grandfather of B?

• लनम्नलललित में से लकसका अर्स है लक C, B का नाना ह?ै

A.C–D×B

B. C÷D×B

C. C–D–B

D. C×D×B



T, U, V, W, X, Y and Z are family members and there are two married 

couples in two generations of people who live in the same house. T is father 

of spouse of Z. U is the maternal Uncle of X who is not a male. T is brother-

in-law of U. W and X are sisters of each other. Y is son of V. Z is a 

feminine gender

T, U, V, W, X, Y और Z पररवार के सदस्य हैं और एक ही घर में रहने वाल ेलोगों की दो 

पीढ़ियों में दो ढववाढहत जोडे हैं। T, Z के जीवनसाथी का ढपता ह।ै U, X का मामा ह,ै जो परुुष 

नहीं ह।ै T, U का साला ह।ै W और X एक दसूरे की बहनें हैं। Y, V का प्ुर  ह।ै Z स्त्रीढलिंग है



P is the father of R, but R is not his son. T is daughter of R. U is the 

wife of P. Q is the brother of R. S is the son of Q. V is the wife of Q. 

W is the father of V.

P, R का ढपता ह,ै लेढकन R उसका प्ुर  नहीं ह।ै T, R की बेटी ह।ै U, P की पत्नी ह।ै 

Q, R का भाई ह।ै S Q का प्ुर  ह।ै V, Q की पत्नी ह।ै W, Vका ढपता ह।ै

Who is the father-in-law of Q? A.R

B.P

C.T

D.W

E.None of thes




